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Typical Courses of Events (A) : Actor, (S):System
1. (A) AF2 X7} Show Detail H{ES “=2ZC}.
2.(S) |AIE ZAALS| 7|&E0| H7l txt OIS EHECLCEH
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Specification Review

* Stage1000_T4_ver5

« =& =E 0[5 L|O|X[V} Gl=

* 1001.5.A. THAIE AL BAFSETEZIOF oIty S 7 EEL0f
oIlt= 7[=0] ookt

- 1006.3.B: 1006.42| #2r =2 2|21 (1006.40| Analyze Code/t
ZAGHA| 242, 1006.401 H __l Use-Case’ #21&|0] UA| 23

« 1006.5: Use-Case O0|&2] &-2+d A5k ('Analyze Variable’,
‘Analyze Change Name’)

« 1009: CK.STC.320~341 H|AEQ| FeatureE '-fof{otH| A&t




Specification Review

* StageZ030_T4 v3

« Actor Based = H 2| OSP Stage 1000 ver4, 5 &=0{A 5L 2=
O] Use-Case’/ s&& ('Show Result’).

- 02| H2lot Use-CaseE 2ol H?

* Pre-Requisites 2&=2| A=0| O[H|2t,

« Typical Courses of Events 2: 2= A0 Lot AAFS =3ot=
HHO| A4 L2 28 HORUR| .
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Ol = EA&.

rO
_olﬂ
o
£O
Pl
5.2
0|0




Specification Review

. StageZO4O 14 v/
« {HFH O = Use-Caself| 7 |Afot L&t LS, 2030 =A12F 2040
=A12] Use-Case Event LI F2fA BYoH | O =.

« 20432 UMLO|| MainController?t A= A| 4=4| S C+O |0
1A= LEIS.

. AnalyS|SSystemO| ResultSystem=2 7FA| 11 QU=0|, FHZE410] 0]
= HA[OlA| 42




Specification Review

* StageZ050_T4

* Cross Reference: 2= Use-CaseZE cover oHA| 2= Class&
» Cross Reference0|| Chiet 214 B0 2 et

. [%*EXE] 1.(4): ' SLet A= LA 582 0|52 L= H
M7t S50t 58S, QEIZ T

o [T A= ] 2,3, 4855, XAF, 20| Vi B & HOA
SEN 10 0] =070k | ’

« StageZ000_T4

- 2063: BIE0| B0 LSt 9130|242 SHIAS:
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Category-partition testing

I | |
SEF [DEF # error single A property
T A 100 #SP start program [property SF]
Z2Z 7 200 [error]
= 201
E427t 202
=4 203
g2 204 [single] [if SP]
EZ a4 at= 2 300 #EP exist path [if SP] [property EP]
Sl 2= EE (301 #NP no path [if SP] [property NF]
d=29 247 CEED] 310 #DP directory path [if SP] [property DP]
friRsi] 311 #FP file path [if SP] [property FP]
uplo] 7 e 400 [error]
St 401 [error]
= 7H o] &t 402 #UT upper two [if EP] && [if DF] [property FF]
o] 7 (o ] 410 #ACall ¢ [if UT] [property AC]
C oyl tie TAE 411 [error]
cutdo] gi=3% 412 [error]
= input HE Input 500 #IP input path [if SP] [property IP]
action HE Start 510 #SA start analysis [if VE] [property SA]
Show X_File 511 #SX show x_file [if VP] [property SX]
Show Detail 512 #SD show detail [if VP] [property SD]
513 #PE press exit [if SP] [property PE]
=Y 60 #VP valid path [if IP] &, [property VP]
z22 601 [ && [if IP]
24 610 #CA complete analysis [
THIH 620 [if
0] 630 [single] [if PE]
Fla 631




Category-partition testing

I | |
EES LR FEES # error single 5] property
BHa Tl int 07H 700
171 oAk 701 [single]
char 07f 710
17 oAk 711 [single]
double 07 720
171 oAk 721 [single]
float 07K 730
17} ofA} 731 [single]
long 07 740
171 oAk 741 [single]
short 07K 750
171 oAk 751 [single]
=A2 A5 if 07 800
17 o)Ak 801 [single]
else 07 810
17 ol 811 [single]
else if 07 820
17} o] & 821
sw 07 830
171 o)At 831 [single]
HH=EE A for 07H 900
171 oAk 901 [single]
while 07H 910
17} o]Ak 911 [single]
gk A N 07h 1000
17 1001
27} ol & 1002 [single]
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Category-partition testing

OE= AB= AHZr # error single A property
HrSA: A B e Ao 0 1100
1 1101
2 1102 [single]
3 1103
4 1104
5 1105
6 Ol&k 1106
= A E SUHE Hro  HIE |90 ~ 100(%) 1110
80 ~ 90 1111
70 ~ 80 1112 [single]
60 ~ 70 1113
50 ~ 60 1114
= 1115
HEEQA:  |for B 715 ALO] 0 1200
1 1201
2 1202 [single]
3 1203
4 1204
5 Ol&f 1205
while £ 7H AF0] 0 1210
1 1211
2 1212 [single]
3 1213
4 1214
5 0l&f 1215

o



Category-partition testing

]

if & 7l ARl

1300

error

single

property

1301

1302

[single]

1303

1304

1305

else 2 74 &}o]

1310

1311

1312

[single]

1313

1314

1315

else if & 7 X0l

1320

1321

1322

[single]

1323

1324

1325

switch 2 ZH4> A0

1330

1331

1332

[single]

1333

1334

1335

ek

A= 71

1400

1401

Do

1402

[single]

LR

1403

2717,389,791,723,520

24,656,870,375,424
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Category-partition testing (5)

» lestcase=2//,389,/91,/23,520

* Error constraints = 24,6560,3/0,375,424
* Single constraints = 32

* Property constraints = 160
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lest—-case

I I |
# HAE Fo]~ == Z1chgk
1 100.204.300.310.402.410.630.701.711.721.731.7 | &, A8, EAists 2=, T Ee], 2t A T ol 0449 2% Co1Y, int 278 OlAL, char 27 OJAL, double 270 OI4L, float |AZEAET o] =& BAUS &9 k& BAE00H 44, X Filed =&, 24450
41.751.801.811.821.831.901.911.1002.1102.1112|27] 0]}, long 27} 0|4}, short 27] 0143, if 17 014}, else 17} O|AL, else if 17} 014}, switch 17} 014, for 17] 014, while 17} 014}, |8 &, 2
.1202,1212.1302.1312,1322.1332,1402,500.600,5 &7 4= 271 o4, AAHS 0] 27, 5L A2 SUE WE0] HIE 7~80%, for & 715 AH0] 271, while2 7<= AL0] 274, it 74
10.610.511.620.512.513 22 R10] 27, else™ 7<= &FO] 270, else if B 7HS= &YO] 270, switch® 7R &FO] 270, @< FHS= RO 27K, Input HIE w8, 2244
2, Start, 24T, Show X_File, TFYLHE, Show Deatil, 5
2 100.204.300.8310.402.410,680.701.711.721.731.7 |, X, EAjst= A2, T ED], Y9 75 T2 0)4, 1H10] EF CUHY, int 270 0144, char 27] 014, double 270 013}, float | ZZEAEE B L& BT By L& EAZ701Y A4, X _Filed -8, 53
41.751.801.811.821.831.901.911.1002.1102.1112|27H 014}, long 27] 014}, short 270 O14L, if 178 14}, else 17} O14L, else if 170 014}, switch 170 014}, for 17] O14, while 17 O]4},
.1202.1212.1302.1312.1322.1332.1402.500.600.5 &7 27 ol&, AAES 10| 274, 5L A5d SYE H0| HE 7~80%, for & 715 AH0] 270, whileT 7= AL0] 27, if E 74
10.610.511.620.513 2= 710] 270, else2 7H<= &}0] 274, else it 2 7HS= &0 270, switch2 7H4= &Ho] 27, < 7i4= &10] 270, Input HE 5, A2E44
3, Start, BAYE, Show X_File, NP EH, S
3 100.204.300.310.402,410,630.701,711,721,731.7 |29, A&, Edste 4=, VL ED, 29 7= T 0l4), ©td9] TF CY, int 270 014}, char 27] 0]}, double 270 14}, float | AZEMEE Y =&, BEAAE Y & B2 44, ENZTHIE =5,
41.751.801.811.821.831.901.911.1002.1102.1112|27H 014}, long 27 O}, short 27] 014k, it 174 O, else 171 0144, else if 17H OIAL, switch 17] OJ2k, for 171 04}, while 171 014, |X_File® =&, £8
1202.1212.1302.1312.1322.1332.1402.500.600.5[&<71 5 271 o]4), MAHS 7o) 274, 8L ASd SYUE W0 HIE 7~80%, for & 715 &l 271, whileR 7<= &0] 274, if 2 74
10.610.512.511.620.513 2= R10] 27, else® 7<= &0] 274, else if B ZH: &0 270, switch 7H4= &Ho] 271, 8 ZH5= Z0] 270, Input HE 5, 2224
I, Start, £A1EE, Show Detail, Show X_File, I @S, £
4 100.204.300.310.402.410.630.701.711.721.731.7 |28, %, Edlsl=s 4=, UdEQ], 49 A5 T o)4h nlo] £2F ca1Y, int 271 O]4, char 27] O]4L double 271 04}, float |[Z=ZEMEZ B9 &, B4 19 &, BE4ddylnd 44 BEAZ38 & E8
41.751.801.811.821.831.901.911.1002.1102.1112|27H 0]4}, long 27} 014}, short 270 0143, if 17} O]&}, else 17} O|4L, else if 17] O14}, switch 17} 014}, for 17} O], while 17 O]A},
1202,1212,1302.1312.1322,1332,1402.500.600,5| F=7l< 271 Olad, FAH =10 271, 5L X238 5D 0] W1 7~80%, for £ 7= 210] 27), whilel: 7= 0] 271, ifE 71
10.610.512.513 4 70] 270, else2 A= R0] 270, else if 2 7l &0] 271, switch® 7 70| 270, @ Zh<= 710 270, Input HE +E2, 22244
=, Start, EAYT, Show Detail, £F
5 100.204.300.310.402.410,630.701,711,721.73L.7 |2, AE, Exfict= A2, TIFED], 9120| 75 T4 014, 1120] £F kY, int 270 014, char 271 014, double 27] 014, float |AZEANE BY =& EAAR #Y =& BAZ270 44, 582
41.751.801.811.821.831.901.911.1002.1102.1112|27H 014}, long 27] 014}, short 270 O14L, if 178 14}, else 17} O14L, else if 170 014}, switch 170 014}, for 17] O14, while 17 O]4},
.1202.1212.1302.1312.1322.1332.1402.500.600.5 &7 27 ol&, AAES 10| 274, 5L A5d SYE H0| HE 7~80%, for & 715 AH0] 270, whileT 7= AL0] 27, if E 74
10,610,513 &= A0] 27H, elsel® 7= &FO] 27, else if & 70 AFO] 270, switch® 7= 10| 270, @< 7i4= &10] 27}, Input HE =8, 2244
3, Start, BAERE, B8
6 100.204.300.310.402.410.500.600.511.620, 513 |Al8), @&, Exllel= A=, TP ED], 112l 714 T7 04, Qo] £2 cTY, Input HE +2, B2EAHEZ, Show X_File, & FEEMEE 2Y =&, X Filed 5019, 8
7 100,204.300.310.402.410,500,600.512, 513 Adl A2 Ediste 3=, DEED, 329 A4 T 0l4, 9 &7 CY, Input HE +§, B2EMH T, Show Detail, T2 [AZBMLT 8Y =&, 24218 =50 S8
8 100.204.300.310.402.410.500.600.513 Adl, 42 Bt 4=, DEER, 29 A T 014, o] &7 (Y, Input HE +§, 22884 E, 58 AZEE T BE =5 S8
9 100.204.300.310.402.410.513 e, 32 Ecte 4Z, D-ER], B9 A T 014, 9 E7 (Y, & =2
10 100.204.300.311.500.601.513 Algl, BE Exicts 42, 11, input HE 8, 4284 A, T8 AZEA HY =8, S8
11 100.204.300.311.513 Agl AR Exsti= 42 1Y, 58 =8
12 100.204.301.310.500.601.513 Al AR EAEK E= =, UHED, input HE F5, ZZEHAW, 53 AZEA B/ -, 8
13 100.204.301.310.513 A8 AR EXEK Gk =, UUED, 5] =3
14 100.204.301.311.500.601.513 Al AR EAS g 2=, 91, input HE ¥, 22T, 8 AEA Y -5, 58
15 100.204.301.311.513 A8, 25, EAe e 2R 1Y, 8 ESC
16 100,513 A8 E= =
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Result

I ] ]
HAE AojA 718k P/F
1/100.204.300.310.402.410.630.701.711.721.731.741.751.801.811. | AZEME S HY &, AR HY & B4 Ad, X _Filel =&, #4481} |Fail
821.831.901.911.1002.1102.1112.1202.1212.1302.1312.1322.13 & =, 8
32.1402.500.600.510.610.511.620.512.513
2(100.204.300.310.402.410.630.701.711.721.731.741.751.801.811. Z2EAL S Y L £, BXgs HY &, 242N 44, X Filel &, &% Fail
821.831.901.911.1002.1102.1112.1202.1212.1302.1312.1322.13
32.1402.500.600.510.610.511.620.513
3|100.204.300.310.402.410.630.701.711.721.731.741.751.801.811. [ A=ENE S Y &, BEAYE Y &, E443md Ay, BEHE7hE &, Fail
821.831.901.911.1002.1102.1112.1202.1212.1302.1312.1322.13 |X_File¥ =, &
32.1402.500.600.510.610.512.511.620.513
4{100.204.300.310.402.410.630.701.711.721.731.741.751.801.811. E2EAMAE S e £, 242w HY &, 2420 A4 BEZIWE W&, §5  |Fail
821.831.901.911.1002.1102.1112.1202.1212.1302.1312.1322.13
32.1402.500.600.510.610.512.513
5|100.204.300.310.402.410.630.701.711.721.731.741.751.801.811. [ A2EMEE HY &, BEAYSE ¥Y =, 54711 A4, 55 Fail
821.831.901.911.1002.1102.1112.1202.1212.1302.1312.1322.13
32.1402.500.600.510.610.513
6/100.204.300.310.402.410.500.600.511.620, 513 AZEAIE D 19 = X Filed &0 £8 Fail
71100.204.300.310.402.410.500.600.512, 513 ZAZEEE BY kg, BHENE LEEL S8 Fail
8/100.204.300.310.402.410.500.600.513 A=EMES g L g, B8 Pass
9(100.204.300.310.402.410.513 =5 Pass
10{100.204.300.311.500.601.513 AZEA g -5 B8 Pass
11/100.204.300.311.513 =g Pass
12/100.204.301.310.500.601.513 A=A g F B8 Pass
13(100.204.301.310.513 £= Pass
14]100.204.301.311.500.601.513 A=ZA40 g4Y -F B8 Pass
15(100.204.301.311.513 =8 Pass
16(100.513 £8 Pass

17



Pairwise testing

4 ) FindX (17)
49 SP(17)
4 ) EP(12)
4 ) DP (10)
45 UT_AC (10)
4] CFS (9)
4 IP_VP (8)
49 SA_CA(5)
= FX-7:.511.620.512.513
=] FX-8:.511.620.513
=] FX-9:.512.511.620.513
=] FX-10:512.513
=] FX-11:.513
=] FX-4:.511.620.513
=] FX-5:.512.513
=] FX-6:.513
=] FX-3:513
=] FX-12:.513
47 FP(2)
=] FX-13:.500.601.513
=] FX-14.513
4 NP (4)
4 DP(2)
=] FX-15:.500.601.513
=]FX-16:513
49 FP(2)
=] FX-17:.500.601.513
=]FX-18:513
=] FX-1:.513

18



Result

] ]
Test Project : FindX
Test Plan  : pairwise testing
Overall Build Status
Build Assigned Not Run [%] Passed [%] Failed [%] Blocked [%] Completed [%]
test build 17 0 0.0 1 64.7 6 35.3 0 0.0 100.0

Overall Build Status percentages are computed using only test cases that have tester assignment on build

Results by top level Test Suites

Test Suite Total Not Run [%] Passed [%] Failed [%] Blocked [%] Completed [%]
SP 17 0 0.0 1 64.7 6 35.3 0 0.0 100.0

This report shows results for each top level test suite. Results for subordinated test suites are count in for the corresponding top level test suite.

Test results according to test priorities

Priority Total Not Run [%] Passed [%] Failed [%] Blocked [%] Completed [%]
Medium 17 0 0.0 11 64.7 6 35.3 0 0.0 100.0

This report shows results according to the test priorities The priority of a test case is calculated based on the test importance and test urgency. For further information about |

test priority read the manual and check your configuration.

General Information

All reports only consider latest execution of each test case.
You can sort tables by clicking the column header.
Generated by TestLink on 26/05/2016 03:49:12

Processing time (seconds) 0.02

| Graphical Reports

Test Project : FindX
Test Plan  : pairwise testing

Overall Metrics

m Failed (6)
® Passed (11)
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Result

Test Project : FindX
Test Plan  : pairwise testing

| Expand/Collapse Groups Show all Columns 4 Reset to Default State . Refresh "B Reset Filters  MultiSort i/

Test Case Priority + test build [Latest (created) Build] test build Latest execution

(= Test Suite: SP (1 Item)
7 FX-1:513 Medium © Failed [v1] © Failed [v1] © Failed [v1]

3 Test Suite: SP/EP/DP/UT_AC (1 Item)
7 FX-12:513 Medium © Passed [v1] © Passed [v1] © Passed [v1]

= Test Suite: SP/EP/DP/UT_AC/CFS (1 Item)
7 FX-3.513 Medium © Failed [v1] © Failed [v1] © Failed [v1]

= Test Suite: SP/EP/DP/UT_AC/CFS/IP_VP (3 Items)

7 FX-4:511.620.513 Medium © Failed [v1] © Failed [v1] © Failed [v1]
7 FX-5:.512.513 Medium © Failed [v1] © Failed [v1] © Failed [v1]
7 FX-6:.513 Medium © Failed [v1] © Failed [v1] © Failed [v1]

= Test Suite: SP/EP/DP/UT_AC/CFS/IP_VP/SA_CA (5 Items)

7 FX-7:.511.620.512.513 Medium © Failed [v1] © Failed [v1] © Failed [v1]

7 FX-8:.511.620.513 Medium © Passed [v1] © Passed [v1] © Passed [v1]
7 FX-9:512.511.620.513 Medium © Passed [v1] © Passed [v1] © Passed [v1]
o FX-10:512.513 Medium © passed [v1] © passed [v1] © Passed [v1]
o7 FX-11:513 Medium © Passed [v1] © Passed [v1] © Passed [v1]

= Test Suite: SP/EP/FP (2 Items)
1 7 FX-13:500.601.513 Medium © Passed [v1] © Passed [v1] © Passed [v1]
7 FX-14:513 Medium © Passed [v1] © Passed [v1] © Passed [v1]

= Test Suite: SP/NP/DP (2 Items)
! 7 FX-15..500.601.513 Medium © Passed [v1] © Passed [v1] © Passed [v1]
= FX-16.513 Medium © Passed [v1] © Passed [v1] © Passed [v1]

= Test Suite: SP/NP/FP (2 Items)
/" FX-17:500.601.513 Medium © Passed [v1] © Passed [v1] © Passed [v1]
o FX-18:.513 Medium © Passed [v1] © Passed [v1] © Passed [v1]



Brute Force Testing

Clone Checker

Fail

2= B A
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Clone Checker

Show X_File
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Brute Force Testing

I I |
| ¥ s |loLo — 0 %
g 3% % - @
> > oLo v U oLo HHM p

~ A F]BL L e
s+ HIZ 7}7| 0l& =Y =R 72 Qteste + X Qe main.c +# X EE5Ad a.c
mulEsE main.c 2016-05-26 28 4:05  C Sc fineuce =stdio.h> #inelude <stdio >
: . Elvoid main() Elint main()
=AM » test.c 2016-05-26 278 4.05 C Sc { {
= AR * |
) t return O
par 1
EngS
Al
==
- o L’L_J__LL’L‘j o =z [ —— —_—— VW L
< - X

. Problems @ Javadoc B Declaration #" Search B Consale ® @ Team Repositories 4 Builds & History & S}-‘r“cl“ror“iz._;!s—-wj =2

e
2%
[pa]
olt
ofN

MailTest [Java Application] C:#Program Files#lavaijre1.8.0_74%bin#javaw.exe (2016. 5. 26. 27 3:59:00)
4T Java.Security.ACCEesSSLONLrOller.doPrivilieged (Natlve Metnod)

at java.security.ProtectionDomainSJavaSecurityAccessImpl.doIntersectionP
at java.awt.EventQueue.dispatchEvent (Unknown Source)

at java.awt.EventDispatchThread.pumpOneEventForFilters (Unknown Source)
at java.awt.EventDispatchThread.pumpEventsForFilter (Unknown Source)

at java.awt.EventDispatchThread.pumpEventsForHierarchy (Unknown Source)
at java.awt.EventDispatchThread.pumpEvents (Unknown Source)

at java.awt.EventDispatchThread.pumpEvents (Unknown Source)

at java.awt.EventDispatchThread.run (Unknown Source)

HAE maingf 2 EAfol= c g 2712 Y=orE, 0|2 /F 2ol 2 12 A& 4 UAS JH =

I;



Brute Force Testing

EEN - s - ‘o

+t > OLoO v D oLo HM P
P 0|2 ~ B ot os testc + I)( main.c . test.c a.c test.c maine + X [ e
* Hi= 71| - El//#include <stdio.h> =//#include <stdio.h>
mHE 2 S main.c 2016-05-26 2% 4:05  C Sc Z\EO id main() //int main()
2N p test.c 2016-05-26 @7 4:05  C Sc y, ;;{
= AR * /M /) return O
park /N
4 DEl v
Al >
==
il Problems @ Javadoc & Declaration #” Search B Console ® @ Team Repositories 4 Builds & History &” Synchronize & Git Ranncitnries % Plun-in NDenendanciec -
i@ Clone Checker < |l&) Start - X
MailTest [Java Application] C:WProgram FilesWlava¥jre1.8.0_74¥binWjavaw.exe (2016. 5. 26. @7 3:59:00) W e — 'W --.b‘
aTt java.Security.ACCesSSUONTroller.dorrivileged (Natlve Metnod) S e

: l | Clone Checker —

M
1%
[pa)
o
ofN

at java.security.ProtectionDomain$JavaSecurityAccessImpl. doIntersectloJ,
at java.awt.EventQueue.dispatchEvent (Unknown Source)

—_—

at java.awt.EventDispatchThread.pumpOneEventForFilters (Unknown Source) : . . 'f: 3 =
at java.awt.EventDispatchThread.pumpEventsForFilter (Unknown Source) : Input

at java.awt.EventDispatchThread.pumpEventsForHierarchy (Unknown Source) i

at java.awt.EventDispatchThread.pumpEvents (Unknown Source)

at java.awt.EventDispatchThread.pumpEvents (Unknown Source)
at java.awt.EventDispatchThread.run (Unknown Source)

Show Detail Exit

Show X_File

L|O| | H| A BN A4 M E S22 3=,
A0

A
EQSHEIAE 2ol USiaLI] A HHOE £HE APIsle 7152 A85H B0 2 HErELch 73



AddToNum.c + X EXGGIFIfe]EINs
| #include <stdio h>
“void function0B()
{

int a;

—woid function07()

{
int a;
it O
else if {}
elze{}
H
—woid function0B(0
{
int a;

H
—void function09()

{
int a:
H
=void function10()
{
int a;
it Ofr
else{}
H
=lint main(void)
{
int total =0;
int i, num;
printf ("0FE numPtAlSl HA, umE? ")
scanf("%d", &num);
for (i=0; i<num+l; i++)
total+=i;
printf("0SEl ¥dPHA] HAZ 3 %d #n", num, total);
return (0
H
/\O| JHA = 1ﬁ§;| |~_,_O = ;|~
tﬂ — /ﬂ M O —||—O 9 - — O
2= Lo =7} [ A] 24
2F4= L0 7 A | A] B4
O[St BHAQ|2S
A |_|_ [ O O =

rute Force lest

AddToNum.c AddToTotal.c + X FEG#4 a.c
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